
© 2011, AIS
Phone: 800.434.7400 Fax: 978.562.0811 Web: www.ais-inc.com

Catalog Product Date

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

All 7/1/11 1 of 4

Details

Shared Overheads are installed on top of AIS panels using brackets that are similar to the standard counter top brackets.    
Below are the installation details.
Note: Divi panel is used for the visual example below. Divi, MWall and AO2 installations are the same but Matrix is different  
which is detailed in step 3.

Overhead Support Brackets

Screw - #10 x 3/4” Wood Flat Phillips

Step 1 - Attach Support Brackets
Attach the support brackets to the panel(s). There will be 
one on either side of the panel hanger frame.

Shared Overheads  (C-SOLINSTALLL) V1

Single Panel

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

Angle bracket to 
panel and line up with 

hanger frame slots.

Insert bottom of 
bracket into hanger 

frame.

Angle bracket up so 
that all hanger frame 

slots are inserted.

Secure into place by 
pushing bracket up.

Note: If overhead is going on one panel, install brackets 
at both ends of that panel.

3/4”

Double Panel

Note: If overhead is going on two panels, install brackets 
at the far end of both panels.



© 2011, AIS
Phone: 800.434.7400 Fax: 978.562.0811 Web: www.ais-inc.com

Catalog Product DateAll Shared Overheads  (C-SOLINSTALLL) V1 2 of 4

Step 2 - Center Overhead and Attach
Carefully center the overhead unit on the panel(s) for 
installation. Make sure to center the overhead by length 
and depth to the panels (below).  Once the unit is 
centered, install the supplied 3/4” wood screws.

7/1/11

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

Centered Off Center (depth) Off Center (length)

Step 3 (Matrix) - Details
The brackets are different when installing on Matrix. 
Matrix includes the brackets, socket head bolts and top 
retainer bars for the frames.

Overhead Support Bracket

Socket Head Screw and Flange Nut

Top Retainer Bars

Screw - #10 x 3/4” Wood Flat Phillips

Socket Head Screw and Flange Nut

3/4”

2 3/4”



© 2011, AIS
Phone: 800.434.7400 Fax: 978.562.0811 Web: www.ais-inc.com

Catalog Product Date

Step 5 - Support Brackets

Install the two support brackets to the frame using socket 
head flat head screws and flange nuts.  Once installed, 
add the top-cap back onto the frame.

Step 4 - Top Retainer Bars

Install the top tile retainers that have cut-outs for the 
Matrix brackets.

First place the brackets onto the frames.  They will 
align with pre-drilled holes in the frame, and rest into 
the empty slots of the top tile retainers.

Next secure the brackets with the socket 
head screw and flange nut.

Note: Screw must thread from the 
bottom up through the frame so the 
extra screw length and nut do not 
inhibit glass or electrical installation.

All 7/1/11 3 of 4Shared Overheads  (C-SOLINSTALLL) V1



© 2011, AIS
Phone: 800.434.7400 Fax: 978.562.0811 Web: www.ais-inc.com

Catalog Product Date

Step 6 - Center Overhead and Attach
Carefully center the overhead unit on the panel(s) for 
installation. Make sure to center the overhead by length 
and depth to the panels (see below).  Once the unit is 
centered, install the supplied 3/4” wood screws.

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

CAPPNCAPMGCAPMCCAPQTCAPDHCAPGC

Centered Off Center (depth) Off Center (length)

All Shared Overheads  (C-SOLINSTALLL) V1 4 of 47/1/11


